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A look back at the highlights of 2003.  Below is a position from the November World Computer Championship, played at Graz, Austria, as a 16 player 11 round Swiss.  A play-off , required after SHREDDER & FRITZ finished equal on 9.5, was won by SHREDDER  1.5-0.5 (although FRITZ had won in their round game).  Although computers play move by move and can fail to formulate long-term plans, as shown in the Kasparov-X3D Fritz Game 3 (see West Australian Nov 29), SHREDDER seemed to show human qualities here (White v JONNY).  1 Rh4+ would enable a draw by repetition claim but it seems as though SHREDDER seemed to say to itself, ‘There must be a win here somewhere,’ and it then produced a real problem-like move to win the game. Can you find the move?
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I was now intending to show the CHESS INFORMAT game of 2003 but realised I had already annotated this (Judith Polgar v Berkes) in June. Here then is the 2nd best game:





SHIROV   -   VAN  WELY





          Sicilian Defence



 1       e4  
c5  


 2       Nf3  
Nc6



 2       Nc3  
Nf6  


 4       Bb5  
Qc7



 5       0-0  
e6  


 6       Re1  
Ng4



 7       Bxc6  
bxc6


 8       e5  
f6!



 9       d4(a)  
cxd  


10      Qxd4  
Nxe5



11      Nxe5  
fxe5  


12      Rxe5  
Be7



13      Bg5  
Bd6(b)  

14      Bf4!  
c5



15      Qe3(c)   a6  


16      Nd5  
Qc6



17      Rg5  
h6  


18      Bxd6!  
hxg5(d)  



19      Rd1!  
Rh6(e)


20      Ne7  
Qa4



21      Qf3  
Bb7(f)   

22      Qxb7  
Rd8



23      Ng8  
Rh8  


24      Qf3  
Rxg8



25      Qh5+
Resigns

a)  A novelty.

b) 13... d6  14 Bxe7, Qxe7  15 Re3 is unclear.

c)  White could allow the loss of the exchange & a swop of queens with 15 Rxe6+, dxe6  16 Qxd6, Qxd6  17 Bxd6, retaining good chances. The text however is stronger.

d)  If 18...Qxd6  19 Rd1, Kd8 (avoiding 20 Nf6+) 20 Nc3 winning.

e)  If now 19...Qxd6  20 Nf6+, Ke7  21 Rxd6, Kxd6  22 Ne4 winning.

f)  21...Qxc2 is met by 22 Ng8.

Here’s a second quickie against the Sicilian where, after making one fatally careless move, Black has his king hunted from one end of the board to the other:





NEY    -    KOBLENTZ




         1956  USSR  Championship




        Sicilian: Smith-Morra Gambit



 1       e4   
c5  


 2       d4  
cxd



 3       c3  
dxc 


 4       Nxc3  
Nc6



 5       Nf3   
d6  


 6       Bc4  
e6




 7       0-0  
Nge7   


 8       Bg5    
h6?



 9       Nb5!   
d5


10      exd  
hxg5



11      dxe!  
Ng6  


12      exf+  
Ke7



13      Qe1+  
Kf6  


14      Qe3  
Nf4     



15      h4  
Be6


16      hxg+  
Kf5



17      Bxe6+  
Nxe6  


18      g4+  
Resigns (x)

x) 18...Kxg4  19 Qxe6+, Kxf3  20 Qf5+, Ke2  21 Nc3+, Kd2  22 Rad1++.

SOLUTION:  1 Bc4!! Rxb2+ (if 1...Qxc4  2 Qg6+ mates or 1...Rxc4  2 Rh4+, Kg8  3 Qxb8+) 2 Ka1, Rxc4  3 Rh4+, Kg8 (3...Kg7  4 Qh6+) 4 Qd8+, Kg7 (4...Qf8  5 Rg4+ or 5 Rh8+) 5 Rg4+, Qg6 6 Qe7+, Kh6  7 Rh4+, Qh5  8 Qf6+.

